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No. &’ OE % T 12 A 1A 2 H 3 H 4 A 5 H 6 H TH 8 H
1| ZFm (RET) - - - 0.029 | 0.030 | 0.030 | 0.030 | 0.030 | 0.030
2 | WERAT (BN RF) - - - 0.052 | 0.060 | 0.059 | 0.059 | 0.059 | 0.058
3| AR (BRORDT) 0.024 | 0.022 | 0.021 | 0.024 | 0.023 | 0.023 | 0.023 | 0.023 | 0.023
4 | & (RET) - - - 0.034 | 0.033 | 0.033 | 0.033 | 0.034 | 0.034
5|8 ( » ) = = = 0.103 | 0.102 | 0.101 | 0.100 | 0.099 | 0.099
6 | —B9d (=REM) | 0.119 | 0.116 | 0.098 | 0.116 | 0.110 | 0.104 | 0.102 | 0.102 | 0.099

7| KT (RET) 0.069 | 0.069 | 0.067 | 0.067 | 0.066 | 0.064 | 0.063 | 0.063 | 0.063

sl &mhi (v ) - - - 0.055 | 0.054 | 0.053 | 0.052 0.053 | 0.053
9 | mdmm (o) 0.051 | 0.051 | 0.050 | 0.051 | 0.051 | 0.051 | 0.051 | 0.052 | 0.053
10 | A&EW ( n ) - - - 0.045 | 0.052 | 0.053 | 0.052 | 0.053 | 0.054
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